2 EgTIT



THRYBEHRER
I & BoOAl oA BROOB BAI = HERH i
ERET

EEIT

R Bt m3 51.7

HEHI T# m3 155.5
Bkt T

BR{ARE T JRAL 2.5=W<4 m3 12. 6

Bk T FAL W<2.5 m3 1.8
BRELT

ERPREE T JRAL 2.5=W<4 m3 28.8
FEEERT

EEER (B m2 18.9
BIuET

TR FENR m3 123.9

RiEuy m3 123.9




2—1 {EHIT



oAl EElT

CT HES

p3 I -
@ R 1 By 5t i
Bl Bt m3 51.7 51.7
+ 5 m3 155.5 155. 5




—AnElEy e
B Al EEIT Rat S e

JOowvy
X Vs

WA Rk § = B =
) < S
Bt V=(1. 3+4. 8)*1/2%3. 8+ (4. 8+11. 0) 1/2%2. 1+ (11. 0+7. 1) %1/2

%20+ (7. 1+1. 3)*1/2%1. 3=51. 7 ' o

i / 4 (m3) 517 m3
+ 5 V=(24. 9+18. 2) %1/2%3. 8+ (18. 2+8. T) 1/2%2. 1+ (8. T+13. 5) %1/2

*2. 0+(13. 5+22. 2) *1/2%1. 3=155. 54 (m3) 155.5 m3




2—2 HAELT



O RARELT

CT HES

p3 I -
@ 5 T By 5t i
Bkt SR 2. 5<W<4 m3 12.6 12.6
FRL W<2.5 m3 1.8 1.8




— R

B Al ERAETT

JOavy
X 7
[ R s 3 X~ 5=
AR B
JREAL 2.5=W<4| V=(5. 3+0) *x1/2%3. 8+ (0+0. 4) x1/2x2. 1+ (0. 4+0. 7) ¥1/2%2. 0+ (0. 7

+0. 9) *1/2%1. 3=12. 63 (m3) 126 m3
ARt
AL W<2.5 V=(0. 2+0. 2) *1/2%3. 8+ (0. 2+0. 2) *1/2%2. 1+ (0. 2+0. 2) *1/2%2. 0

+(0. 2+0. 2) ¥1/2%1. 3=1. 84 (m3) 1.8 m3




REREELTT



OBl BRARELIT

CT HES

p3 I -
@ 5 T By 5t i
Bt SR 2. 5<W<4 m3 28.8 28.8




— R

A BRERELET
JOavy
X 7
AL IRk ] X 5 &
FRPREE T
AL

2.5=W<4| V=(3.0+3. 1) *1/2+3. 8+ (3. 1+3. 2) x1/2%2. 1+ (3. 2+3. 2) ¥1/2%2. 0

+(3. 2+3. 2) ¥1/2%1. 3=28. 77 (m3) 28.8




2 —4 ZEEEWRIT



g Al EmEERI
b3

HERFR

oAl

Bify

EIHRHE

i

REER (ELER)

m?2

18.9




—MRETEE
BB AEERI
Jovy% AR

X pa
WAL s 3 X ~ KX 5 &
EFE3ACEZD)
A= (1. 80+2. 01)%1/2%3. 8+ (2. 01+2. 13)%1/2%2. 1+ (2. 13+2. 24) *1/2
*2. 0+ (2. 24+2. 31)*1/21. 3=18. 91 (m2) 18.9 m2




2—5 KIWNET



g Al RITAMET
b3

HERFR

oAl 3] BfL & &t i
TREER m3 123.9 123.9
BirEayn m3 123.9 123.9




— R

2 %fﬁiﬂﬂl

Javy .
X 7
WAL s ] X~ B =
T R EER
fiEEl (AL
V=51. 7 (m3)
fEE| (L7)
V=155. 5 (m3)
FRIE Y
V=22. 7 (m3)
Bt
V=12. 6+1. 8+28. 8=43. 2 (m3)
HEL
V=24. 7+27. 5=52. 2 (m3)
¥ V=51, 7+{(155. 5+22. 7) - (43. 2+52. 2) /0. 9} =123. 90 (m3) 123.9 m3
RIELS
V=123. 90 (m3) 123.9 m3




3 EEI



BET

HMEHERE

BAI

&
felo

__ B

E ORI

i 18.9

ALEZ




WEAET



HERFR

B Rl AT
p3 I -

@ R 1 By IR R 5 i
AT m?2 18.9 18.9




(5] Al AT
JOowv4y  HIRXE
=3 o

— R

WA Rk

3 X ~ KX 5 &
PN
A=(1.80+2. 01) %1/2%3. 8+ (2. 01+2. 13) %1/2%2. 1+ (2. 13+2. 24) %1/2
*2. 0+ (2. 24+2. 31)%1/2x1. 3=18. 91 (m2) 18.9 m2




4 H-JOVIEER I



THRYBEHRER
I # i | oAl b7 % B H = HEERE
A-JRvIEGR
)T
EELT
KRiE Y T# m3 22.7
BRL FRAL 1=SW1<4 0=W2 m3 24.7
BRL FRAL W<1 0=W2 m3 21.5
EEXT
KRiE Y & m3 22.7
avyy—rJno
YUBET
ERT m 8.6
MhOwkT NO. 0 T 1
MhOwkT NO. 0+9. 2 T 1
REIJOv/E  [HERI1500 m?2 60. 1
fRsAa >4 1) — b | ock=18N/mm2 m3 64.9
EiA#m (BAR) RC-40 m3 29.9
X T m 8.6




4 — 1

BT



HERFR

oA EEET
%
@ 7 8o B & 3 #
KiEY +8 m3 22.7 22.7
EREL FAEE 1=W<4 0=W2 m3 24.7 24.7
FAEE W< 0=W2 m3 21.5 21.5




B Al fFRET

— R

JAavy
X 7
WAL s ] X~ B =
FRHE Y
T V=(2.2+42. 1) %1/2%3. 8+ (2. 1+2.5) *1/2%2. 1+ (2. 5+3. 0) x1/2%2. 0
+(3. 0+3. 4) ¥1/2%1. 3=22. 66 (3) 22.7 m3
HEL
FREAL 1SW<4 | V=(2.5+2. 7)%1/2%3. 8+ (2. 7+2. ) *x1/2%2. 1+ (2. 7+2. 8) *1/2%2. 0
0=<W2 +(2. 8+2. 8) ¥1/2%1. 3=24. 69 (3) 24.7 m3
HEL
FAL WI<1 0= | V=(2.9+2. 9) %1/2%3. 8+ (2. 9+3. 0) *1/2%2. 1+(3. 0+3. 1) *1/2%2. 0
W2 +(3. 1+3. 3) ¥1/2%1. 3=27. 48 (3) 27.5 m3




RENET

4 —2



MELETER
OB RENET
b3

oAl ROK Bify

d

i

RELE i

AO78
= .

=50cm m? 23.0

¥y

E

*




— R

Javy
X %
AL IRk z X B_&
TENHE
EA R &50cm A=2. 50%9. 2=23. 00 (m2) 23.0 m2




4—3 aVvy)—rJOvwoETL



B OAl:avoY—rJnyoEL

HERFR

B
B B O% AL A § 15
AT m 8.6 8.6
NOLT NO. 0 B 1 1
NO. 0+9. 2 R 1 1
RKEIOv o |HEE1500 m2 60. 1 60. 1
fAA3 2% 1) — k| o ck=18N/mm2 m3 64.9 64.9
FAM (BHR) RC-40 m3 29.9 29.9
KT m 8.6 8.6




— R

B OA:avs)—+rJAvORT

JOovy
=3 o
WAL s ] X~ B =

HBET

L=8. 6 (m) 8.6 m
NAWET
NO. 0 N=1 (& Ffr) 1 [Elzil
NAWET
NO. 0+9. 2 N=1 (& FFf) 1 [Elzi
KEJOvsia
2K 1500 A={(7.040+7.160) *1/2-0. 112} *8. 600=60. 10 (m2) 60.1 m2
fRsAa>o1)—+
o ck=18N,/mm2 m2¥y Y fRhAE

V=1.08 (m3)

V=60. 10%1. 08=64. 91 (m3) 64.9 m3
=AM (BR)
RC-40 V=(3. 6+3. 6) *1/2%3. 5+ (3. 6+3. 4) *1/2%2. 1+ (3. 4+3. 3) *1/2%2. 0

+(3.343. 2) %1 /2%1.0=29. 90 (m3) 29.9 m3

Kig T

L=8. 6 (m) 8.6 m




bt Ao BEHEET

i 1% 10 m%y
ML IR =1 =X B =

HEBEa 0 1)—F

o ck=18N/mm2 V=1.877%0. 150%10. 000=2. 816 (m3) 2.82 m3

ERET

A=0. 150%2%10. 000=3. 000 (m2)

3.00 m2




bt A o/phAkET

MEL i £l N B =
avyl)—+k
o ck=18N/mm2 V={1. 677%0. 650+ (2. 002+2. 592) *x1/2x5. 900} *0. 300=4. 393 (m3) 4.39 m3
T

A={1.677*0. 650+ (2. 002+2. 592) *1/2x5. 900} *2+7. 320%0. 300
=31. 481 (m2) 31.48 m2




bt A o/phAkET

y37) # - NO.0+9.2 1 EREL
P Bk Z = %=
avol)y—+F
o ck=18N/mm2 V={1.677%1. 000+ (2. 002+2. 547) *1/2x5. 450} 0. 300=4. 222 (m3) 4.22 m3
i
A={1.677%1. 000+ (2. 002+2. 547) *x1/2x5. 450} *2+7. 210*0. 300
=30. 309 (m2) 30.31 m2




bt B KigT
b5 1%

10 m3y
P Bk Z = %=
avol)y—+F
o ck=18N/mm2 V=(2.002+2.012) *1/2%0. 100%10. 000=2. 007 (m3) 2.01 m3
i

A=0. 100*{y (172+0.572) +y" (172+0. 472) } ¥10. 000
=2. 195 (m2) 2.20 m2




P

pul

GEC



sls E
TREMERER
I i& E A Mmoo 7] 1% B = M= ]
HMET

T AT 7L

T
TEHRE (HE -
PRIS &7) BEY 5y v—35 2 (RC-40) t=150 m?2 20.7
B (5 -
RIS &R) BARERARRA RN-25) t=100 m?2 20.7
RE (HE - BB
1) BETZRAI77ILNEAY (FHES) t=50 m?2 19.7




5—1 FXRI77)LMEHET



B OBl 7PRAI7ILEET

HERFR

p3 I -
oA B % By #EIHR A &

TREKEEE: [BEY5vyYvy—5 > RC-

BRIE &) 40) t=150 m?2 20. 7 20.7

R (EE - (BAEMNERERA RI-25)

BRIE &) =100 m?2 20. 7 20.7

RE(EE - BE |BET7RAI77ILMEEH(

1) BHE13) 1=50 m?2 19.7 19.7




—iETEE

i) Al : FRI77IL hEHET

A= ‘y:]\ : IR

X pa
WA s ] X~ 5=
I 4 1% (238 -
PR TS D)
BES S v r—| A=(2.40+2. 29) %1/2%3. 8+ (2. 29+2. 20) *1/2%2. 1+ (2. 20+2. 11) %1/2
S5 (RC-40) t=15|  *2.0+(2. 11+2. 06) *1/2%1. 3=20. 65 (m2)
0 20.7 m2
+ R 0E (25 -
BT D)
BARERERE | A=(2. 40+2. 29) *1/2%3. 8+ (2. 29+2. 20) *1/2%2. 1+ (2. 20+2. 11)%1/2
(RM-25) t=100 2. 0+ (2. 11+2. 06) *1/2%1. 3=20. 65 (m2) 20.7 m2
xR[E (Ea - 88
&h)
BETRAT7IU R | A=(2.30+2. 19) %1/2%3. 8+ (2. 19+2. 10) *1/2%2. 1+ (2. 10+2. 01) *1/2
RO (FHEES) | *2.0+(2. 01+1.96) #1/2+1. 3=19. 73 (m2)
=50 19.7 m2




6 BEVHET



THRYBEHRER
I & BoOAl oA BROOB By 2 HERH i
BEYRET
BEPRELT
SRR YT bR FRAI7IL %R Eb5cm m 9.2
S hR B FRAI7IL hEERR Eb5cm m2 19.0
EKILET
Ak E m3 1.0
ERNET
BRIE FRAI7ILE m3 1.5
L5y FRAI7ILE m3 1.5




6—1 BEYHERLI



1z ;:'g CEEYERIELT

CT HES

i

oAl ROK Bify EIHRHE & F i
% hiR U BT FAIZ7IL bR E5cm m 9.2 9.2
% iR B A FRAI7IL hEighR Ebom| m?2 19.0 19.0




—MRETEE
B A mEMIELT
Jnv% AR

X VAl
ﬁﬂ/ﬁm ] X ~ X B =
BT alEq

A7) b | L=9.2(m)

kR Eb5cm 9.2 m

SRR B R

TR T 7IL M| A=(1.87+2. 21)%1/2%3. 8+ (2. 21+2. 10) *1/2%2. 1+ (2. 10+2. 02) *1/2

bR /E5cm *2. 0+ (2. 02+1. 96) *1,/2x1. 3=18. 98 (m2) 19.0 m2




6 —2AKWNET



B Al AKOET
b3

HERFR

oAl

Bify

& &

i

KL

m3

1.0




—

B Bl EKNET
JOovy
X 7

WA Rk =

B}

X 7

&EI

[eimy

KL
REERDFS| = (BER

W2 # T

1. MANE

1) ®H

(N R- NS TERTR

BSE-DETR EAT

RIEHEM LY

2-1 MBI RETSRKICONT

[Fri25tE4 A 1B 260 ZH 1065

R OEE - BREOVTERODLEED 4 F

BROFERREHLEACERY B LTS

AYEVETRE<A

FEEMBLEEET (AR 1-14-2-116

HEROMNSR - RETIRKC 2T )

i 29 HAA R < IR

BREEONT Lt

V=(18.2/230) *1. 8%0. 85=0. 12=1.0(m3) X 1m3FKi&E(XIm3 &9 %

[t HM) SERSmE 1, 000mb
1,000 (m)

BN Ehpd
R

0 Y 1 WEN (o RAAR (m3 ¢
<15 1.80 B5Y

30 1. 80

15 1.80

315 1.80

- M
IS< <30 1. 80

B S aoRtRR
./ A) X8

b (AR

1.0

m3




6—3 EiRNIET



G ERET

HERFR

p3 I -

@ R 1 By IR R B B & f i
M FRI 7 m3 1.0 0.5 15
SIS FRI7I m3 1.0 0.5 15




—REHEE
B Bl EfRNET

JOovy : HIHXE

X 7

WA Rk =3 ®

B}

&él

[eimy

B iR

TAI7I b V=19. 0*0. 05=0. 95 (m3)

1.0

m3

A5

TFAI7IL K V=1.0(m3)

1.0

m3




—fitEE
BBl EfRNET

JOvw Y BT

X 7

WA Rk =3 ®

B}

&él

[eimy

B iR

TAI7I b V=10. 1*0. 05=0. 51 (m3)

0.5

m3

A5

TFAI7IL K V=0. 5 (m3)

0.5

m3







/)

S

& E A Mmoo 7] 1% Bfy = M= ]
T
B+ T
E=Eit wiE m?2 22.
EET
ANORZ m?2 10.
EEERT
EEER (BLE) m?2 10.
T AT 7L
T
TRE AR (HE -
BREER) BEYSvvy—5 2 (R0-40) t=150 m2 11.
LB (HE -
BREER) BAEHEFERA RM-25) t=100 m2 11.
=B (HE - BB
EB) BET7RAI77)L MEEY (FHIES) t=50 m2 10.
EEMERIELT
ShAE R U B 7 A2 7 )L R Eb5cm m 9.
AR F A7 7L EEERR Eb5cm m?2 10.




7—1

U f+ T



g Al Bt T

i

% -

HERFR

oAl

Bify

B+ X

i

aig

®ig

m?2

22.6




(i (| N S
JOv Y BATRE
X 7

— R

WAL s 3 X~ 5=
i
i A=1. 420%1/2%0. 650+ (1. 420+0. 500) *1/2%7. 320+ (3. 700+0. 500) *1/2
*7.210=22. 63 (m2) 22.6 m2




7—2 EET



HERFR

B Rl AT
p3 I -

@ R 1 By B B & & i
ADEE m?2 10.5 10.5




(5] Al AT
JOvy TR
=3 o

— R

WA Rk

] X 7

B}

&él

[eimy

ABREZ

A=(0. 76+1. 80) *1/2%1. 5+2. 31%3. 7=10. 47 (m2)

10.5

m?2




7—3 FEEERIT



g Al EmEERI
b3

HERFR

oAl

Bify

B+ X

& &

i

REER (ELER)

m?2

10.5

10.5




— R

OB EEERT

A ‘y?\ : B X

X w2 i

WA Rk

] X 7

B}

&él

[eimy

EEER (BRI

A=(0. 76+1. 80) *1/2%1. 5+2. 31%3. 7=10. 47 (m2)

10.5

m?2




7—4 TFTRI7IAHET



B OBl 7PRAI7ILEET
p3 I -

HERFR

MR O Bf E{t XA & i i
TREEEE |BE95vy¥vy—5 > R0-
BRIE Eh) 40) t=150 m2 1.2 11.2
FERE (EE - |BEMERZRE RN-25)
BRIE &) =100 m2 1.2 11.2
RE(EE -BE |BET7RAI77ILEEEH(
1) BHE13) 1=50 m2 10.7 10.7




i Al : 7AIT7
J0Ovy - BRATXE
X 7

— R

JUREET

WA Rk

] X 7

B}

&él

[eimy

TRERE (Ba -
iz Y =R

BEISvYv—
5 > (RC-40) t=15
0

A=2. 40%1. 5+2. 06%3. 7=11. 22 (m2)

L B (BaE -
iz Y =R

BAENERERA
(RM-25) t=100

A=2. 40%1. 5+2. 06%3. 7=11. 22 (m2)

RE (HE - B8R
#B)

BET7RXI77IL b
BEY (FEHIELI)
t=50

A=2. 30%1. 5+1. 96%3. 7=10. 70 (m2)

10.7

m2




7—5 BEYHRIERLI



1z ;:'g CEEYERIELT

CT HES

i

oAl ROK Bify HR A X i & F i
% hiR U BT FAIZ7IL bR E5cm m 9.0 9.0
S RS B FARAI 7L SRR Ebcm m2 10.1 10.1




— R EE
B3 mEmEELT
o0y B

=3 o
ﬁ%ﬂ/%ﬁ*ﬁ 1 X - %=
Y

FTRXI7IL FERE | L=1. 87+1.50+3. 70+1. 96=9. 03 (m)

k. E5cm 9.0 m

L IR AR AR

FTRXI7IL FEREE | A=1. 87%1.5+1.96%3. 7=10. 06 (m2)

ki E5cm 10.1 m2




8 {REXT



S

T & E 5l oA BROOB Hifu = HERBR ]
RE&ET

TEBT (55%)
FEERE T W<2.5 m3 9.0
BRLFI BEY T YL v—F > RC-40) t=100 m2 34.4
B m3 9.9

IHMEBT (F
KW - 4R m3 37.7
IEMEBmET  [4<W m3 73.7
IFMEREL  |2.550<4 m3 174.0
IEMEREL  |W<2.5 m3 206. 1
B m3 499. 2
TARL— b m2 188. 6
BRLFI BEY Ty v—7 2 RC-40) t=100 m2 306.0
TERERELR
% m3 480.4
BB m3 480.4




TiE# a3
I iE & Al oA p3) % =R v) = 18 53]
sy m3 480. 4
KBTI 35%E)
BEERUIFL
s @ 250 m 34.0







Ol EERT (GERE)

HERFR

pS A
o I B O% B & F i
SEEEREE L W<2.5 m3 9.0 9.0
BEIVZIYIUYy—F 2 RC-
R F 40) t=100 m?2 34. 4 34. 4
|2 m3 9.9 9.9




— R

3l EEEST (GE%E)

JAavy
X 7
WAl R ] X~ B =
SEE] R AR
W<2.5 V=0. 5%1/2%10. 0+ (0. 5+0. 5) *1/2%1. 5+ (0. 5+0. 3) *1/2%3. 8+ (0. 3
+0. 3) *1/2%2. 1+ (0. 3+0. 3) ¥1/2%2. 0+ (0. 3+0. 3) ¥1/2%1. 3+(0. 3
+0. 3) *1/2%3. 7+0. 3%1/2%10. 0=9. 00 (m3) 9.0 m3
EEF
BEIS v v—| A=1.61%1/2%10. 0+ (1. 61+1. 61) *1/2%1. 5+ (1. 61+1. 43) %1/23. 8
52 (RC-40) t=10|  +(1.43+1.43)*1/2%2 1+ (1. 43+1. 33) *1/2%2. 0+ (1. 33+1. 23) x1/2
0 *1. 3+ (1. 23+1. 23) *1/2%3. 7+1. 23x1/2%10. 0=34. 37 (n2) 34.4 m2
Bt it
V=9. 0%1. 1=9. 9 (m3) 9.9 m3




8—2 IFEHAEKRI



O IERERT (BE)

HERFR

p3 I -

MR O i:-¥iva & i b
FIFER - HE m3 37. 37.
ITEMEEREL  [4<W m3 73. 73.

2.5=W<4 m3 174. 174.
W<2.5 m3 206. 206.
%t m3 499. 499.
TARS—F m?2 188. 188.
BEYSvIvy—3 2 RC-
B F 40) t=100 m?2 306. 306.
TERERETHE
* m3 480. 480.
7%+ E i m3 480. 480.
7%t s m3 480. 480.




— R

EOJ IERERI (BE)

JAawvy
X VAl
WAL s ] X~ B =
FITFE - R
BIvY—F
V=(1.2+1. 4)*1/2%3. 8+ (1. 4+1. 4) %1 /2%2. 1+ (1. 4+1.3) *1/2%2. 0
+(1.3+1.3) *1/2%1. 3=12. 27 (m3)
TERER
V=(0. 5+0. 4) *1/2%10. 0+0. 6%1/2%10. 0+ (0. 6+0. 4) *1/2%15. 0+ (0. 4
+0. 3) x1/2%7. 0+ (0. 3+1. 3) *1/2%10. 0=25. 45 (m3)
2 V=12. 27425. 45=37. 72 (m3) 37.7 m3
TERERET
4=W EBIvV—FK
V=(7.3+4. 4)*%1/2%3. 8+ (4. 4+4. 8) *1/2%2. 1+ (4. 8+5. 6) *1/2%2.
+(5.6+5. 0) *x1/2%1. 3=49. 18 (m3)
TERER
V=4. 9%1/2%10. 0=24. 50 (m3)
2 V=49. 18+24. 50=73. 68 (m3) 713.7 m3
TEHERRLT
2.55W<4 TERER
V=3. 6%1/2%10. 0+ (3. 6+6. 1) *1/2%10. 0+ (6. 1+6. 3) *1/2x%5. 0+ (6. 3
+3. 6) *1/2%10. 0+3. 6%1/2%15. 0=174. 00 (m3) 174.0 m3
TEHERRLT
W<2.5 TERER
V=6. 3%1/2%10. 0+ (6. 3+3. 0) *1/2%10. 0+ (3. 0+2. 4) x1/2%5. 0+ (2. 4
+5. 4)x1/2%10. 0+ (5. 4+1. 8) *1/2%15. 0+ (1. 8+1. 8) *1/2%7. 0+1. 8
*1/2%10. 0=206. 10 (m3) 20601 m3
B+ 44
V=(73. 68+174. 00+206. 10) *1. 1=499. 16 (m3) 499.2 m3
TRI—F+
A=37.72/0. 20=188. 60 (m2) 188.6 m?2
B
BEYVSyIy—|lEIYVY—FK
5 > (RC-40) t=10| A=8.0%10. 0=80. 00 (m2)
0
TERER
A=3. 0x57. 0+ (3. 0+8. 0) *1/2x10. 0=226. 00 (m2)
2 A=80. 00+226. 00=306. 00 (m2) 3060 m?2
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OB IERERT (ER)

JAawvy
X VAl
WAl s ] X~ B =
ITERERELTR
=
BIvY—F
V=(7.3+3. 9) *1/2x3. 8+ (3. 9+4. 2) *1/2%2. 1+ (4. 2+4.9) %1 /2%2. 0
+(4. 9+4. 8)%1/2%1. 3=45. 19 (m3)
TERER
V=24.50+174. 00+206. 10=404. 60 (m3)
B
V=306. 00%0. 10=30. 60 (m3)
¥ V=45.19+404. 60+30. 60=480. 39 (m3) 480.4 m3
7%+ E i
V=480. 39 (m3) 480.4 m3
5%+ sy

V=480. 39 (m3) 480.4 m3
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8 Al KBTI ($8%E)
b3

Kb = 4= =
HERFR
Al 3] Bfr & &t i
EEERYIFL
V& ¢ 250 m 34.0 34.0
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Javy
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WAL s 3 X~ 5 &
mEERN)IFL
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® 250 L=34. 0 (m) 340 m
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